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Positive Agreement

Negative Agreement

He can dance. So can |. | can,too. He can't dance. Neither can . | can't either.

He travelled in Asia. Sodid she. Shedid,too. | He didn't travel in Asia. Neither did she. She didn't either.
He is smart. Soareyou. Youaretoo. | Heisn't smart. Neitherareyou.  You aren't either.
He hates carrots. Sodothey. Theydotoo. | He doesn't hate carrots.  Neitherdothey.  They don't either.
He should work hard. So should |. |should,too. | He shouldn't work hard.  Neither should|l. [|shouldn’t either.

A.Fill in the blanks with so, too, either and neither.

Ex.She isn't going to the party. Neither is Mary. Mary isn't either.

Anita is Spanish. Soam I.l am, too.

1.Andrew goes to work everyday. Tom.Tom
2.You haven't done your homework. you.You
3.1 would like to eat some cakes 1

4.Mark can play the guitar. John. John

5.1don't like this food.
6.1 couldn't talk to the teacher yesterday.

7.She is not going to the party tomorrow.

8.David bought a new car.

9.You are very clever.

my colleague. My colleague

he.He

my friend. My friend

you.You

10.1am not happy to be here.

A.Match the sentences on the left side with the correct answer on the right:

1.1 went to the dentist yesterday.

2.1 didn’t like the movie.

3.Dorais so happy.

4.You haven't done your homework.

5.He can play the piano.

a.l can, too.

b.l don't either

c.Neither have you.

d.Sois Tom.

e.Sodid|.

f.Victoria does, too.
g.l didn't either.
h.Neither do |

6. Olivia doesn't like coffee.
7.1don't live in London.

8. Melanie loves music.




